86°071 | 08'FEI LT 6b°0¢ L9TE6 L68 LYI0T | S¥iTl 8L'E€T 1§97 LS'TT8 08L 0.101]]

18 60°¢T $1°0 ¥1°0 09°T01 081 ¥9's 88°LC 91’0 91’0 00'FIT 002 (wrouge) 80OV XMKBEI EM LOUWOY| ,,9ET L
Iv'e 8L°ST 170 £6°¢ 01°SIT 9 96'C ov'ee 9£'0 LOE 0000T oY YIGHRMHBMU gauy uJ 9
€0y 60°0T 6v°0 8T°€ T0°16 v 06'€ 09'61T 81’0 0Z'€ 08'88 ov YIGHhMHIMU-OHEXd gauX|  LIJ S
11T £5%T 9L¢ L9'E STOLL 081 9E'81T Sv'0e 08y 90€ 06'TVT 0ST aoHquadoLder adoill]  440TT t
0S°ch €I°L1 TTS1 #8°S1 00°09Z 001 S0°6E er'st 0L'ET 9z'v1 00'VET 06 3und 0JoHNAAN €M 191aL0Y | PrONHLL | €
05'sT 00°¢T 01's [{144 0s‘ovt 052 L6'ET 09'6 80V 791 JT 431 00¢ UMNOTROIHMHBY HUHAWVODJRY| 44 lL z
TE'8C L1701 ££°0 00T L1TS 001 6S'LT 0r'9 0z'0 02’1 0£'TE 09 yeHHesodusdadHoN eeAdAYAY | ETZ-pS [

o) = Mv W o] = % 2] .,

e

E ) P o 2| 8 g B v 5% 2 K
= = = ZE e o o E = W & = e A B -

- =z ] = 2 3 m -] [} = i TOIIrQ FHHEHOHIWHEBT] e
&2 g = m 3 ) 3 2 m = 3 = =8
] = [ z = <] =1 z m = b1 o =

r E =l = = E 72 o =

. -1 . i il ! E

92081 [ - S 90BN § - | 11200
S0°88 8608 LO'BE 09'67 0P LOL PLS 9Z°0L LV'8L 81°0€ €T 0r°019 F0S 010L]]
96'L 08'6 or'0 or'o 00°LY 001 96°L 08'6 ov'o or'o 00'LY 00T AYHKAED MIOUQH| 44 TEC

v8'TT ¥6'ST 89C 9T'E 00°05 00¢ SL'8 SEVT 1'e ¥8'C 00'st 081 WONOL'OW 3 HOLWUEH WIGHUBPOH [ 4, ¥9Z S
15"y 9r's¢ or'e S0'¢ ov'6Tl vE 1sv 91's¢Z ov's 507 ov's1T vE uHuHEdL 1l 14
Tz [y L8°0 0z 09°8L 0z w'e ov'stT £8'0 0zt 0984 0z WI9HRMHIMU Holeq uJ €
S6'T 00°TT re'o 09t ov'vy [o14 S6'T 00Tt ¥e'0 09T ov'vy 0¢ YIAHRMHAMU-OHEXd gauy Ul [4
£5'65 89'¢ 8v0€ 6I'0¢C 00'89€ 00¢ L8'vy 9/'c 98¢t yI'sT 00942 05T yiaHavedALeH 1BUWO| 4T I

) &) =

e} = = = N = = w e
- < =3 i+ - < = g o] = .
w B 2 > 2 s 2 o - 2 ¥ g |ng% o g z

%] g = =i td 8 = g m E 3 - YOILrQ SHHEHOHIWHEF] a
& 2 g = Z = g a2 2 = = 2 = = =
] e E 5 8 2 = ] = g 2 =2z B = =

= £ F 2 ¥ 7 [ =i o =

i v 3 5 ¥ ol ) z

19IBIMM § - |

1 ST0T #0'H0 BH OIHIJA

yedigeg




